
ID.  PART DESCRIPTION QTY. REF.:

1 Right engine guard (Black) 1 DEFENSA 2249N

2 Left engine guard (Black) 1 DEFENSA 2249N

3 M8x30 DIN912 allen screw 2 M2TM080125030A8

4 M8 DIN125/A washer 4 M2AM08DIN125AZB

5 M8 DIN985 locknut 2 M2TUM08DIN985ZB

6 M10/150x25 DIN912 screw 2 TORNIAD912-419

7 M10 DIN125/A washer 2 M2AM10DIN125AZB

Pg. 1/2

BMW R 1250GS ’19 / BMW R 1250GS RALLY ’19

M O U N T I N G  I N S T R U C T I O N S

REF  2249N  E N G I N E  G U A R D S

1 Person

1 hour

INTERMEDIATE

https://www.motorcycleid.com/puig/


1

3

A

4

4
5

A

6

7

Tornillería original
Original screwsA

Pg. 2/2

BMW R 1250GS ’19 / BMW R 1250GS RALLY ’19

 M O U N T I N G  I N S T R U C T I O N S

Learn more about motorcycle guards and protection we have.

https://www.motorcycleid.com/guards-protection.html



